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1A LA DABZERIE=220kPa+ ( BIRFFD SE-5.5EF) X 1.5kPa
A B C D E F G H I P

B8 | AFY [momE |aaEy| ok [ tass sezx| 1B |sEze| ank| =5F | #BH%
1A 4.6 0 0.20% -2.0 55 0 0 0 220.0 0
2R 5.6 0 0.20% 24 43 (1.2) 15 -1.8 -0.5 2157 -20
3R 9.3 0 0.20% -4.0 7.6 3.3 1.5 50 -0.5 21771 -1.0
47 14.2 0 0.20% -6.3 12.7 5.1 15 1.7 -0.5 220.8 04
5H 18.2 0 0.20% -8.0 171 44 15 6.6 -0.5 220.6 0.3
6H 21.8 0 0.20% -95 20.6 3.5 15 53 -0.5 2174 -1.2
7H 25.5 0 0.20% -10.9 24.6 40 15 6.0 -0.5 2134 -30
8H 25.7 0 0.20% -10.5 259 1.3 1.5 2.0 -0.5 2039 -7.3
9H 224 0 0.20% -8.5 242 1.7 1.5 -2.6 -0.5 190.4| -134
10A 16.8 0 0.20% -5.8 18.5 (5.7) 15 -8.6 -0.5 1728| -21.4
118 11.5 0 0.20% -3.7 13.4 (5.1) 15 -1.7 -0.5 158.9] -27.8
128 6.3 0 0.20% -1.8 1.5 (5.9) 15 -8.9 -0.5 145.9|1 -33.7
18 46 0 0.20% 0.0 55 (2.0) 15 -3.0 -0.5 140.5| —-36.1
&F 15.2 -73.5] -33.4% 0 -6.0 -79.5

REEFTEARARN (C)=(SEADFEHTEA-FRNOEEB) X0. 2% X EXE(P)
ZEREP)=RIOAZERE (P)-ATA D BEARN (C)-(REDFEH+RIRTNID
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1B L AIDRAELERE=220kPa+ ( BEEFFD RS
A B C D E F G H I P
BB | BEY | ROEE |BRERH| BAR J:’ﬁ.lﬁf%l SEBE| 1E |[BEEE aRBR| ZRE | #EH%
1A 46 o o204 —20 55 0 0 ol 22000 o
28 5.6 0 0.20% -24 4.3 (1.2) 1.1 -1.3 -0.5 216.2| -1.7
38 9.3 0 0.20% -4.0 7.6 3.3 1.1 3.6 -05 2169| -14
47 14.2 0 0.20% —-6.2 12.7 5.1 1.1 5.6 -05 2179 -0.9
55 18.2 o o204 79| 171] 44| 11 28] 05| 2161| -18
68 218 o o208 92| 206 35| 1. 39| 05| 2116] -38
78 255 o o204 -105] 246 40| 1. 44| 05| 2063 -62
8H 25.7 0 0.20% -10.1 25.9 1.3 1.1 1.4 -0.5 196.7| -10.6
9H 22.4 0 0.20% -8.3 24.2 1.7) 1.1 -19 -05 18421 -16.3
10H 16.8 0 0.20% -5.7 18.5 (5.7) 1.1 -6.3 -0.5 169.2] -23.1
1A 115 o o208 36| 134 G| 1 56| -05| 1574| -285
128 6.3 o o204 -18 75| Gol 11 65| 05| 1468 -333
1H 4.6 0 0.20% 0.0 55 (2.0) 1.1 -2.2 -0.5 14221 -354
3 15.2 —71.8] -32.6% of -60| -778
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KARIREDE=HAICIELT ARE1TS
mRIEIZXDFEN : -0.5kPa

B BEE=-1.0kPa

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=5COEE
EBEDER KERIEFEAEZER)

1A EAIDHAEERE=220kPa+ ( SRR DO RS

M1E=#41 5kPaTHEL-ES

-5.5F) X 1.5kPa

A B C D E F G H I P

AB | A¥Y | RORE |BEXAZRY BAR [LAXE JEE | 1B [RELE| ARRE | ZRE | BE%
1A 5 0.20% 9.5 0 0 0 220.0 0
2H 5.6 5 0.20% -0.3 4.3 (1.2) 1.5 -1.8 -0.5 2177 —-1.0
3H 9.3 5 0.20% -1.9 7.6 3.3 1.5 5.0 -0.5 2219 0.9
47 14.2 5 0.20% -4.2 12.7 5.1 1.5 1.1 -0.5 22711 3.2
5H 18.2 5 0.20% -6.0 171 44 1.5 6.6 -0.5 22911 441
6H 21.8 5 0.20% =1.1 20.6 3.5 1.5 53 -0.5 2278] 35
7H 25.5 5 0.20% -9.2 246 4.0 1.5 6.0 -0.5 2256 25
8H 25.7 5 0.20% -9.0 25.9 1.3 1.5 2.0 -0.5 217.8] -1.0
9H 22.4 5 0.20% 1.2 242 (1.7 1.5 -2.6 -0.5 205.7| -6.5
10H 16.8 5 0.20% -45 18.5 (5.7 1.5 -8.6 -0.5 189.5| -13.9
11H 11.5 5 0.20% -2.3 13.4 (5.1) 1.5 =-1.7 -0.5 176.9| —-19.6
12H 6.3 5 0.20% -04 1.5 (5.9) 1.5 -8.9 -0.5 165.3| —24.9
1A 4.6 5 0.20% 0.0 9.9 (2.0) 1.5 -3.0 -0.5 161.3| —26.7
F 15.2 -92.7| —23.9% 0 —-6.0 -58.7
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1A LA DB ERE=220kPa+ (RIRFFDRE

M1E=#1 1kPaTHEL-ES
-55E) X 1.1kPa

A B C D E F G H 1 P
AB | AT |ROEE |BRGRYE BRE | LARE| JEE| 1E |RERE| "R | ZERE | BiE%
18 5 0.20% 5.5 0 0 0| 2200 o
28 5.6 5 020% -03 43 12| 11 -13| -05| 2182 -08
38 9.3 5| 0204 -19 76| 33 1.1 36| -05 2210/ 05
48 14.2 5 020% -4 127 5.1 1.1 56| -05 2243 19
58 18.2 5|  020% -59 17.1] 44 1.1 48| -05 2245 20
68 21.8 5| 0204 -75 206 35 1.1 39| -05 2219 09
18 25.5 5/ 020% -90 246 40 1.1 44| -05| 2183 -08
88 25.7 5| 020% -87 259 13 1.1 14| 05| 2103| -44
98 224 5| 0204 69 242 (D] 14 -1.9]  -05 1992 -94
10H 16.8 5 020% -44 185 7)1 63| -05 1855| -157
115 115 5| 0204 -23 134 G| 11 56| -05 1750| -204
12H 6.3 5| 020% -04 75| (59| 11 65| -05| 165.8| -24.6
15 4.6 5 0.20% 0.0 55| (20| 1.1 22| -05 1627| 261
F 15.2 -513| -233% of -60] -573
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AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 46 0 020% 18| 19| 20| 21| 22 23] 24 25 26 27| 28
2R 5.6 0 020% 22| 24| 25| 26| 27| 28] 29| 30 31| 32 34
3R 9.3 0 020% 37| 39| 41| 43| 45| 47| 48 50| 52| 54/ 56
4R 14.2 0 020% 57| 60| 62| 65 68 71| 74 77| 80| 82 85
5H 18.2 0 020% 73| 76| 80| 84 87/ 91| 95 98| 102| 106 109
68 21.8 0 0.20% 87| 92| 96| 100| 105( 109| 11.3| 11.8| 122 126 13.1
718 25.5 0 0.20% 102| 10.7| 11.2[ 11.7] 122 128| 13.3| 138 14.3| 148 153
8H 25.7 0 0.20% 10.3| 10.8| 11.3| 11.8| 123| 129 134 139 144 149 154
9R 22.4 0 0.20% 90| 94| 99| 103| 108 11.2| 11.6] 121| 125 130| 134
108 16.8 0 020% 6.7 71| 74| 77| 81| 84| 87 91| 94/ 97| 10.1
118 115 0 020% 46| 48| 51| 53] 55 58/ 60 62 64 67 69
128 6.3 0 020% 25| 26| 28| 29/ 30f 32| 33 34/ 35 37| 38
F 15.2 -72.8| -76.4| -80.0 -83.7| -87.3| —91.0[ -94.6| —98.2[-101.9]-105.5-109.1

15BN BEARRBN-R;21°CTO. 20%T:tHE
BRRhEOEE=-5COIEE

BB | BEY | ROERE |BA%S| 200 210 220 230] 240 250| 260[ 270| 280 290| 300
28 5.6 5( 020% 02| 03 03 03 03 03 03 03 03 03 04
3A 9.3 5( 020% 17| 18] 19| 20| 21| 22| 22| 23| 24 25 26
48 14.2 5( 020% 37| 39| 40| 42| 44 46| 48 50 52 53 55
5A 18.2 5( 020% 53 55 58 61 63 66 69 71 74/ 77 719
68 21.8 5( 020% 67 71 74 77| 81 84| 87 91 94 97 101
78 255 5( 020% 82| 86/ 90| 94| 98 103] 107 11.1| 115 119 123
8 A 25.7 5( 020% 83| 87 91 95 99| 104| 108 112| 116 120 124
98 22.4 5( 020% 70| 73] 77 80| 84 87 90 94 97 101 104
108 16.8 5( 020% 47 50/ 52| 54 57| 59 61| 64 66| 68 7.1
1A 115 5( 020% 26| 27 29| 30/ 31 33 34 35 36/ 38 39
128 6.3 5( 020% 05/ o5 06/ 06| o6 07 07 07/ 07/ 08 08
& 15.2 -489| -51.4| -53.8| -56.3| -58.7| -61.2| —63.6| —66.0| —68.5| -70.9| -73.4
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15BOBEARBN=-5;B31°CTO. 18%Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 46 0 018% 1.7 1.7 18| 19 20 21| 22 22| 23| 24/ 25
2R 5.6 0 0.18% 20| 21| 22| 23| 24| 25| 26| 27 28/ 29/ 30
3R 9.3 0 0.18%| 33| 35| 37| 39| 40| 42| 44 45 47| 49| 50
4R 14.2 0 0.18%| 51| 54| 56| 59 61| 64| 66 69 72| 74/ 77
5H 18.2 0 0.18% 66| 69| 72[ 75 79| 82 85 88| 92| 95 98
68 21.8 0 0.18% 78| 82| 86| 90/ 94 98| 102 106 110 11.4[ 118
718 25.5 0 0.18% 92| 96| 10.1| 106| 11.0[ 115] 11.9| 124 129| 133 138
8H 25.7 0 0.18% 9.3| 97| 102| 106 11.1| 116 120[ 125 130 134| 139
9R 22.4 0 0.18% 81| 85 89| 93| 97 101] 105 109] 11.3| 11.7] 12.1
108 16.8 0 0.18%| 60| 64| 67| 70/ 73] 76/ 79| 82 85 88/ 9.1
118 115 0 0.18%| 41| 43| 46| 48/ 50 52| 54 56| 58 60 6.2
128 6.3 0 0.18% 23| 24| 25| 26| 27| 28] 29[ 31| 32| 33| 34
F 15.2 -65.5 -68.8| -72.0| -75.3| -78.6] -81.9| -85.1| -88.4| -91.7| -95.0| -98.2

15BN BEARRBN-R;E21°CTO. 22%TitHE
BRRhEOEE=-5COIEE

AB | AEY | ROEE |B2F%2L| 200 210 220 230| 240| 250 260| 270[ 280 290 300
2R 5.6 5 022% 03| 03] 03] 03 03 03 03 04 04 04 04
3R 9.3 5 022% 19| 20| 21| 22| 23| 24| 25 26| 26 27| 28
4R 14.2 5 0.22% 40| 43| 45| 47| 49 51| 53| 55 57| 59/ 6.1
5H 18.2 5 022% 58| 6.1| 64| 67 70| 73| 76| 78/ 81| 84 87
67 21.8 5 022% 74| 78| 81| 85 89 9.2 96| 100] 103 10.7] 11.1
78 25.5 5 0.22% 90| 95 99| 104| 108 11.3] 11.7| 122 126| 13.1| 135
8H 25.7 5 0.22% 91| 96| 100 105/ 109 11.4| 11.8[ 123| 12.8| 132| 137
98 22.4 5 022% 77| 80| 84| 88 92 96| 100 103| 107 11.1[ 115
10H8 16.8 5 022% 52| 55 57| 60/ 62 65 67/ 70 73 75| 78
118 115 5 022% 29| 30| 31| 33| 34/ 36| 37 39/ 40| 41| 43
128 6.3 5 022% 06| 06| 06| 07 07/ 07/ 07/ o8 08 08 09
& 15.2 -53.8| -56.5| -59.2| -61.9| -64.6| —67.3| -70.0| -72.6| -75.3| -78.0| -80.7




